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| APTITUDE |

Directlons [1-5) : Fill in ¢ach
of the numbered blanks in the fol-
lowing passage with the most suil-
able word out of the alternative
ven against each number.

(1] her monumental repulation
the Mona Lisa was a [3] thirty-one
inches by bwenty one inches, small.
er even than the poater of her sold
im the Louvre Gifl shop. She hung
on Uhe norih wesl wall of the Salle
des Evals [3) a twe inch-thick pane
af protective plexiglas. Painted on
a popular wood panel her [4] mist-
Nled atmosphere was atltribubed 1o
Da Vinci's mastery of the sfumate
style, in which forms appear to (5]
in le one another.

1. (1) Despite
(23 Unlikely 1o
3] Even with
(4] Kone of the above
2. (1) Onily
[2) Mere
[3pJust
[4) Nane of the above
3 (l)n
(2)0n
3] Behind
(4] More of the above
4. [1) Ethereal
[2} Curtous
[3) Pictorial
[4) Mone of the above
B. (1) Get dupbicaved
12) Evaporate
{3 Conatituted
(4] None of the above
Directions (8-11) : Choosc
the right “parts of speech” of Lhe
words given In the questions below.

(2] Adjective
{4) None of the above

7. Culveri
(1) Moun
(2) Adjective
(3] Vers
(4] None of the abave
8. PFlumose
(1) Noun
[2) Adjective
[3) Verts
[4) None of the above
8. Maraud
(1] Koun
12) Adjective
3 Verb
(4) Hone of the abeve
Haleyon
(1) Noun
" (2) Adjective
(3] Vera
[4) None of the above
Shard
(1) Moun
(2) Adjective
13) Veers
{4) None of the above
Diregtions (12-30) : Read the
pasaage and answer Lhe queslions :
The last one in this long pro-
cesaton of silenl men and women
was a litlle wizened old man. Even
he carried a load of two baskeis,
slung on a pole on his shoubder. the
same load of a folded quilt. a eaul-
dron. Bul there was only one eaul-
dron. In the other basket it scemed
there wis a quill, extremely ragged
d patched but clean still. Al-
though the load was lighl. It was
too much for the old man. It was
evident thatl in usual Limes he
would be beyond the age of work and
was perhaps unaccustomed Lo such

10,

11

‘labour in recentl years. His breath

whistled as he staggered along and
he strained his eyes (o watch those
who were ahead. of him lest he be
leflt behind. and his old wrinkled face

Life Insurance Corporations
Assistant Administrative Officer

was 261 in a8 sorl of gasplng agony

Suddenly he could go no mare
He sel his burden down with grea
gentleness and sank upon the
ground, his head sunk between his
kniees, his eyes closed, panting des-
perately. Starved as he was, a litte
blood rose in dark patches on hia
cheeks. A vendor selling hol nos
dles set his stand near, and shoul-
ed his trade cry, and the light from
the stand lell an the old man’
drooping fligure. A man passing
stopped and muttered, looked o
him. 1 swear | can give no mone this|
day il | amn to leed my e even noth
ing bul noodles— bul here is Lhix
old man. He brought out of he
ragged mrdie a bit of silver coln, and
after a moment's hesilalion an
mullering. he added 1o il a coppa
penaTy. g

“There, old father”. he said with
a sorl of biller heartineas, “lel me
sce you eal noodles.” The old man
Hited his head slowly. He said: S,
1 did nol beg of you. Sir. we have
good land and we have pever bien
starving like this before, handng suck
good land, Bul this year the river
rose and men slare even on good
land al such lires. SIF. we i,
have no seed lell. 'We have ealen ouar
seed.” Take it'. said the man, amnd
he dropped the money into the old
mun's apron and wenl an his way.
sghing.

The vendor prepared his bosd o
noodies and called oul. How many
will yous eat, obd man® The old mas
said, ‘Ome small bowl is encugh’

Then the old man rose wilh
greal effori and took Uhe bowl be
tween his shaking hand and he
went to the olher baskel. He pullsd
aside the quill untll one could see
the shrunken face of a dmall boy
lying with his eyes (st closed. The
old man hited his head a0 thal ha
mouth could touch the edge of the -
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Eltle bowl, he began to swallvw fee-

bly unul the hot mixtare was fin-

shed. The old man kept ipurmur-
ing o him “There my heart
eeneealhiere, my child....." "Your
grandsan® Said the vendor, Yes,
the son of my only son. Both my
san and his wife were drowned as
they worked on our land when our
dikea broke.” ‘Bul you have the sil-
ver bl eried the vendor, astonished
to see that the odd man ordered on
mare. The obd man shook hia head,
That is for seed” The beat | can do
for this grandson of mine 1o buy a
little seed for the land.......Yea,
even, | die and othera must plant
il the land must be pul to seed’,
12, Meaning of Cauldron
(1] Narrow neckad earihen pol
12) Large kettle for boling or
heating liquid
(3) Metallic pol for carrying
waler
(M) Metallic box to carry
clothes
. The bachground of the
cpisade is
[1) France 12) New York
[3) China (4) England
Meaning of stagger
(1) To reel from side to side
12) To walk unsveadily
3] To bend the body
(4] None of the above
. The passer by was :
(1) Very rich
{2) Nol quite rich
(3) Very poor
[4) Uniletme "
The odd man ‘strained his
eyes’ because ©
(1) He was afrasd of being
left behind
2] It was gelling dark
1) His eye sight was very
poor
[4] It was oo hit
. The men and women in the
proceaskon were silent
because :
{ 1) They carried much loads
12) They were busy walking
{3) They were tired
{4) They were rightened

18. e obd man hesitaled Lo lake
the silver coin because
111 He did not understand why
the man was giving him a
onln
12} He was surprised
13} I was below his dignity o
Lake alms
{4} He had enocugh money
18, Meaning of panting
(1) Dizziness
2) Slow breathing
[3) Rapid breathing
[4) Lay down straight
20. Find the mis-match.
1) unaccusiomed- nol used
£:]
(2] agomy-hungry
(3] desperately-withoul both-
ering aboul anylhing
4] drooging-bent
21. A B pand C enter inlo a part-
nership. A invesls soome mon-
ey al lhe beginning . Binvesls
double the amount afler &
manths and C invests thrice
the amount after 8 monihs. if
the annual profit be Rs. 27000
C s share is:
il) Bs, 9000 (2] Rs. 11250
(3 Rs. 10,800 (4) Ra. BE25
2. Als bwice as good n workman
as B and together they Ninish
a piece of work in 14 days. The
number of days taken by A
alone Lo finish the work Is :
(1 R1] [z
w8 [4) 42
23. Each boy contribuled rupecs
equal o the number of girls
and each girl contribuled m
equal o the number of
in a class of G0 students,
If the tolal amount thus col-
lected s Ra. 1600, how many
bogrs are there in the class?
(1) 3
255
() 50
[4) Data Inadequale
24. [x Mol y+ y¥oolx]in:
(Ix% ol y
[2) y % of x
(3 2% of ay
[4) xy % of 3

. Two barrels contain & mixture
of ethanol and gasoline. The
content of the ethanol s G0%
in the firsl barrel and 30% in
the second barrel, In what ra-
o mst the mixlures [ram the
lirst and the second barrels be
Laken Lo form a mixiure con-
taining 50% ethanol?

[y iz (20

@23 )22

The angles of a convrex hexa-
gon in degrees are inlegers and
w arithmelic progression. L and
M denote the largest of these &
angles. Then the maamum val-
ue that M can Lake is :

(1) 125 degree (2] 150 degree
13) 175 degree (4] 179 degree
Two siraight lines can divide
a circular disk into a ma:
i of 4 parts. Likewise into
how many parts can four
straight hnes divide a circu-
lar disk 7

(A1 ] (2o

(3) 10 [

., The currencies in countrics M
and M arc denoled by mand n
respeciively. The exchange
ratein 1990 was lm, O.6n the
price level in 2006 in M and N
are 150 and 400 respectively
with 1980 as a base of 100,
The exchange rate in 2006
based solely on the purchas-
i power ity consideration
is1m:

(1)0.225n

[2) 0625 n

[M16n

[4)3.8n

The age of Mr. Bhagal in 2002

was | /90 ol hia birth year.

What is his age in 2006 7

(1) 30 1228

(3] 245 4y

Directions (30-31) : The cosl
of fuel running the engine of an
army lank s proportional to the
square of the specd and s, 64 per
hour for a speed of 16 kmph. Other
cosls amount 1o Rs. 400 per hour,
The tank has 1o make a jourmcy of
400 km at a constant speed.
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RﬁTnm: vounomical speod for
L% JOLTREY I8

(1) 20 kmph
[2) 30 hnph
[3] A5 kinphy
41 40 kmph
31, The total cost loe the jourmey
al this mosl cvonomical spoed
I=:
(1) B GO0 [2) Res. BOOO
[3) Rs. 10000 §4) Rs. 1 1000
2. Ina markel rescarch © sect,”
i opted for Mirma dewogent
whereas 8% opled for Surl
Blue detorgent. The resl were
unsure. il the dilference be-
tween Lthose who apled for
Surl Blue and those who were
uncertain is 720, How many
reapondenis were covered in
the survey 7
(1] s
[2] 1440
18] 00
(4] Datan Inusbivpuene
3. A properly LX INCrease was
proposed by & municipal cor-
puration and it was observed
that 40°% of Lhe property own-
ers favoured i while 8066 of
the non-owners of properly
favoured it. IT 70% of volers
are properily owners. whal is
the probulality that a veler se-
lected al random would be the
“one lavouring the increase?
[LRLEE- ]
2052
13040
{4} Data Inadeguate
3. Atoothed wheel of diuneter 50
cm s alteched 1o a smaller
wheel of dameter 30 om, How
many revolulions will the
sifaller wheel make when the
larger ome makes 15 revolu-
Lipaes? =
s 12120
(3 4) 30
38. Prol. Chatterjor bought a car
and got 15% of s original

prioe us o dealer's discount. He
then sold i ot 20% prolit on |
his parchase price. What per- I

centage profit did he get on the

_ original price 7

(1) 2% 12) 12%
13) 5% (4) 17%

. ‘The area of a rectangle gels re-

duced by 9 sq. metre if its
length i1s reduced by S5m and
breadih is inereased by 3m. If
we increase the length by 2m
and breadih by 3m. the area
s increased by G7sg. metre.
The length of the reclangle is:
(1) 8m [Z) 156

(3 17m [4) 18.5m

- A dinner party is o be fixed

for a group of 100 persons. In
this party. 50 persons do nol
prefer fish, 60 prefer chicken
and 10 do mot prefer cither
chicken or Msh. Find the num-
ber of peaple who prefer both
fish and chicken.

)2 12) 30 .
13) 40 {4) 10

The average of marks oblained
in 120 studenis was 35, If the
average of passed candidates
wis 39 and that ef failed can.
didates i3 15, the number of
candidales who passed the ex-
amination s : |

(L) ToQ [2) 10

(2120 [4) 80

There are (wo examination
halls, Pand Q. If 10 students
are sent from P to Q. then the
number of students in each
room is samec. If 20 siudents
are senl from @ to P then the
rivmnber of students in P is dou-
ble of that in Q. The number
of students in P and { respec-
Lively are :

11)60.40

12) 70.50

13) 80,60

14) 100.B0

+ If & number of two digits is k

times the sum of s digits,
thien the mumber formed by in-
terchanging the digits is the
sum of the digits miltiplied by
N 2010+ k
(3= k ) k=1

Directions (41-44) : Study the
following graph and answer the
questions.

O Quantty 1n lakh-tins
B Value in crores of Hupees

4l. In which year, the value per

tonne was minimum ?
(1) 1996 12) 1987
(3) 1999 4] 2000
What was Lhe approximale
peroent intrease in export u'd
we from | 99620007
[h) 350

. [#1330.3
[3) 4333
[1] None of these

= What was the pereent drop in
export quantity from 1996 to
1gaTr

)75

2] 30

325

{4) Mone of these

Il i 1999, the processed food

Uns were exported at the same

rale per Uin as that in 1998,

whal would be the value of ex-

port in 1999 [in crore of Ra.|?

L (2) 375

(3) 352 4] 330

Directions [(45-48) : Mr. and
Mrs. Sharma have two children
Adha and Shashi, Shashi married
Radha, daughter of Mrs. Mahajan.
Suresh, Son of Mra. Mahajan mar-
ried Rita, Sonu and Rocky are bom
o Suresh and Rita. Uma and
Sudha are daughters of Shashi and
Radha.
45. Whal is the surname of Sonu?

(1] Mahajan

() Sharma

{3) Shashi
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[4) None of these

How is Suresh related to
Sudha?

(1) Brather

[Z) Unecle

(3) Maternal uncle

{4} Cousin

Whal is Sudha'’s relation to
Adha? .

1) Saster
12) Kiece:
{3) Aunt
{4) Daughter” ;

. How Is Soou related Lo Mr.
Mahajan 7
(1) Sister-in-law
(2) Orandson
(31 Som
[4) None of these - ]

. In a cerlain code. FAVOUR' is
written as ‘EBUPTS'. How is
‘DAGGER’ wrilten in that
-code ¥
(1) EBHHFS
«[Z) CBFHDS
(3 CRFFDS
(4) EBFHDS

al 9
7|81

(2 (2 &2

(3) 6561 (4] 7

Directions (51-568) : Examine
the ghven Venn diagram and answer
the following questions :

Past

Aslany Graduaales I

B1. Which part denotes poople who
know English but not Docter,
mior Post Graduate nor Aslan
e Indian?

me 26
3) 10 43

. Which parts denoles Poal
Graduale Indian?
maz 21
(515 [4) 4
Which part denotes only Indi-
an who knows English ?
iy (29
23 (SR
Which part shows Doctors who
know English?
me @ 12
314 e
Which part denotes only Astan

. Poat Graduates 7
(11 214
@z 415
Which part denoles Asdan Post
Graduates who know Enghsh?
IV E] @7
34 [yl .-
Which of the following combi-

nation of figures best represent
maes, fathers, hurnan beings 7

=
AR

[
"c

e
o

Directions (58-58) : In the fol-
lerwing questions find oul the miss.

ing number:
@AY &

s 12 10
iz [LIRE
. Hewr muayy meaningful words
can be formed by using any two
letiers of the word NOT 7
1) One 12) Two
(3} Three {4) Four
Directions (81-84) : A compa-
ny launches elght products- Q. K
5. T. U, V. W. Y, and Z in one-of the
four metros of India, The products
were launched onc after the other
wver Lhe period of § montha in 2006,
The order in which the products
were launched is consistent with
the following conditions :
Vv islaunched before both Y and ©
@ mets launched after Z
T gets launched before V but al-
5
R

B1. Which one of the lollowing

could be truee 7

{11Y is the sccond product te
be launched

{2) R is the third product to be
laumched

(3 Q 18 the fourth product 1o
be lounched i

. [4]5 15 the ANh product 1o be
launched
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832, Il Zis the seventh product to
be launched. then which one
ol the Folbowing could be rue?
(1V'W s the fifth product to be
Launched
[2)T is the fourth product to
e lmunched
(2} R is the second product io
be launched

[N
4}V 15 the Gih product to be
Launched

If @ is the Sth product to be

launched then each of the fol-

learing could be tnue exoepd :

(102 is the Nrst product to be
launched

()T is the 2nd product Lo be
launched

(Y s the Jrd product 1o be
launchod

[4) W' is the 4th product to be
laumched

W& ia the fifth product to be

lsunched, which of the follom-
Ing 18 cormect?

[10Q 18 the second product o
e la L

[2) V' is the sevenith product 1o
e Lanimchied

[3) T is the stoh product o be
launched

[4) Wonc of thdac

Directloms (85-88) : In cach
question below ane ghven bwo stabes
ments follewed by two conclusions
numbered | and 11, You have Lo Lake
the bwo given stalemenis to be true
even il they seem Lo be af vansncoe
lor cormmoniby knowm (acts and then
decide which of the given conclu-
slons bogically follows mom the two
given slatements. Read both the
slalemenits and give answer as :
(1) IF only Conclusicn | follows
12) If enly Cenclusion Il follows
13 If either | or II follows
4] If nedghter | mer 11 follows
Statements :

I. Seme Art works are paini-
Ings. -

1. All paintings are Masier
pleces,

Conclnslons

1. Adl Master pleces are painl-
ngs .

II. Some Master pleces are Art
wirks,

Statements

I Some men ane Gonius,
Il. Mo brother is Genlus.

Conoclaslons

I Some brethers arc men.
1. Some brothers are nol men.
Sratements -

L All pants are skirts.

N. No shirt is & skirl.
Conchusbons

I. Some skirls are panis.

0. All shirls are panis,
Btatements :

1. All Planes are Tyres.

H. All Tyres are enganes.
Concluslons :

I. No Engine is a plane

H. Mayre is a plane
Beatements :

I. Some cartoons are funny.
Il. Some carloons are silly
Conclaalons : g
I All funny are cartoons

. Some silly are caricons
Directlons (T0-77) @

Faollow the gheen Inatroctions :
Each llem has a question liol-
bowred by two slatemenis,

Miark (1) if the question can be
answered by statement 1 alane,

Mark (2) if the question can be
answered with the help of [ alone.

Mark (3) if the question can be
angwered wilh the help of both the
staterments bul notwith the help of
either statemenit itself.

Mark (4) if the question can-
mol be answered “with the help of
baoth the statemenis.

TO. Theaverage of three quotations
fora particular ftemn is Rs. 120,
Is the highest quotation less
than or equal to Rs. 1397
I. The lowest quatation is of
Fa. D0,

1. Ome of the quotation ts Ra.
125, .

T1. How many people, resd both
Ectruimie Times fnd Finandal

Express?

L. Out of 300 reacers, 200 read

Financial Expresa. 220 read
Economic Times and 50
read Indian Express.

1. Onst of Lotal 300 readers 220
read Economic Times. 200
reads Financlal Express
and 50 read Nevther.

T2. Abussiarted from bus siop P,
developed engine iroulble and
reached bus stop Q. 40 min-
wies late. Whal & the distance
between the bus stops P and
e
I. The engine trouble devel-

epcd alter travelling 40 lums
from bus stop P and the

speed reduced 1o 5 th of

the origmal speed.

IL The engine trouble devel-

+ oped after travelling 40 kma
from bus stop P in 2 hours
and the speed reduced 1o

% th of the eriginal speed.

73, What is the value of prime
number x 7
I x+ yis & bwo digil wumber
= 50,

I yis a two digit mumber.
What ia Lhe Time dilfercnce in
Nadrobl and Mumbai ¥

1. The depaniure time sl Naro-
bi is exacily & PM. local
time anad Uhe arrrvall time in
Mumisal s next day 3 AM
bocal lime,

1. Flight time is six hours.

Sujata is the chdest daughier.

Whal s the current age of her

father ?

1. Current age of Sujala is 25
years anvd current age of her
sisber Sangocta is 20 years.,

1. Sangeela’s current age is
%td of father's age five
yeirs before.

- Alka has two sialers and one
brother. How many sisicrs
does Sandhya have 7
L. Alka and Sandhya are Sis-

ters.

N. Sandhya has enc brother.

» Madhav likes car X because its
eodl Ra. 500,000 (5 cleapesl
in C scgment and Raghay likes |
car ¥ because 1is cosi
Rs.7,00,000 is highest in ©
segment. Which vehicke will be
selected by Heshav 7 :

T4,

TE.
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Keshav is locking for & car
which is average represen-
tation of C segment.

. Heshav's budget is around
Rs. 5.50.000

Directions (7T8-80) : Reler to

the following Lable. Given below are
the win loss histories of four Lennis
players in three set maiches and

number of matches played.

P R 3

Won2-0 |23 | 18 | 10 | I8

(Won2-1 |13 | 1B | 13 | 14

Loat 0-2 k 16 | 13

Lost 1-2 a8 || 17

78.

. As

Il & win carmes an award af
Fes. 1500 and a loss of Ra. 1000
which is the largest difference
in prize money carned among
the four 7

(1) Rs. 7000

[2) Ra. 14000

[3) Res. 5000

[4) Ra. S000

As in the case above, what s
the kreeat average prize mon-
w;mwmuhwwm-
er

(1 Ma 1035 (2) Rs. 1300
ua:@nuu [4) Rs. 1150
the case above, what is
Uhe highest average prize mon-
€y won per match by any play-
er? c
{1) Ra. 1495 (2) Rs. 1380
(3 Ra. 1480  (4) Rs. 1410

« ‘The universal reciptent blood

WDH:

(o {2)AB

A 1]

Which one of the Tollowing is
mol & I'iLbﬁul.‘l"pﬂwn'?

{1} China (2)UsAa
[3)Japan 4) UK

. Speed of sound is madmum

in:

1) Waler [2) Adr

13) Steel [4) Vacunarn
Which acid 15 used in lead stor-
age balleries 7

(1) Mitric acid

12) Sulphuric acid

13) Hydrechloric acid

[4) Mone of these

. Why do fighter plancs My al
ghis?

greal hei

(1) to escape from birds

(2] to cross the sound barrier

[3) to overcome gravitational
Force

(4] Lo escape delection by ra-
dar

Drialyats is used Lo perform the
function of:
(1) Lungs:
[3) Liver

[2) Heart
(4) Kidncys

. Wha among the lollowing was

the Chairman of the Conasii-
tution Drafing Commditee?
1) Dv. Ambediar

(2) Dr. Rajendra Prasad

{3) Sardar Patel

{4) Motilal Nehru

. Who among the following de-

cides the cancellation of the
election of & person to Parlia-
menl?

(1] Election Cormmmdssion

(2] Supreme Courl

(3] The Parliarmenl

(4] None of these

. Indian Constitution calls In-

dia a:

[1) Unitary State

[2) Federal State

[3) Quasi Stale

[4) Untan of Stales
The gas used in Soda Water is:
11) Oxygen

(2) Armumania

13) Carton Dioside

[{4) Sulphur Dsoxide

. Who is the current Nawab of

Pataudi?

(1) Mansoor Al Khan
(2) Saidfl Ali Khan

(3) Aarnir Khan

[4) Salman Khan

. During the debate in parlin:

menl over Lokpal Bill, who
saluted Anna Hazare for rais:
ing the issue of Cormuplion?
(1) Mr. Pranab Mukherjce

{2) Mr. Manmohan Singh

{3) Mr. Lal Krishna Adwvani

{4) Smil. Sushma Swaraj
Which Indian CEQ of Mclin-

sey who was settled in USA

was criminally charged with
Insider Trading in Svock Mar
ket? :

(1) Rajat Gupla

(21 Vikrarh Pandit

(3] Rajtv Goel

(4] Rsonry Hhan

. Who married Prince William

[1) Kate Middleton

[2) Rosde Pose

[ Jecca Cralg

[4) Oivia. Humt

Wha s the highest wicket taker
in the recently concluded In-

dix-England ODI 2011 series -

from Indian side?

(1) R Ashowin

(2) Ravindra Jadeja

{3) Vinay Kumar

{4) Suresh Raina

In the recently concluded In.
dia-England 0D1 2011 Series,
Uhere was one player whom the
English bowlers could not get
oul even once, Who was he?
(1) Gautarn Gamibhir

2] Suresh Raina

3] M.5. Dhond

(4] R. Ashwin

. Budha International Circuil is

related with which sport?
(1) Crickel (2} Feotball
[3) F1 Car Racec

[4) Tennia

Which is the highest budgeted
movie in Bollywood as claimed

recently?

(1) Rock Star (2] RA. Onie

(3) Slumdog Millionaire

4] Mansarm

. Which film won the best ilm

award in the recently condled-

cd Tibet Film Festival at
T

(1) Mother

[2) The Sun Beaten Path
(3) Prayers Answered

(4) Leaving Fear Behind

. Who is elected as the Interim

13) bl Ralim Al-Kib
{4) Sarf-Al-lslam Gaddafl
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PROFESSIONAL
KNOWLEDGE

lm.rw markeling can be done

(1) Readymade garments
(2) Ballpoint pens
[3) iamond jewellery
4] Golll Chubss
102, Word-ol-mouth marketing is:
(1] Triggered by the company
[2) Unpasd advertising
(3) Used by the company 1o in-
behaviour
[4) None of these
103, CRM is & short form oft
(I} Customer Relationship
1]
12) Company Resource Mar-

{3 Consumer Reaching Mar-
keting

{4) Customer Relationship

104, Five stage model of the con-

sumer buying process does not
inchsde:

(1) Problem recognition
2] Peat-purchase behaviour
(3] Evaluation of alternalives
(4] Produet perception
108. Segmentation of consumer
markets is based on
(1) Consumer characieristics
[2) Consumer reaponscs
[3) Consumer challenges
[4) Both (1] and (2)
108. The stages of the preduct life
cycle in chronological order 1a:
(1) Intredhaction, growth, ma-
turity, decline
{2) Intreduction, growth, ma-
turity, stagnation, decline
13) Intreduction, maturity, de-
cline

4] Introduction, maturily.
slagnation, decling
107. The key Lo competilive advan-
e dierentiation.

108, ___ consists of a few compa-
nibes producing eascntially the
sarne commodity.

(1] Monopolistic competilion
(2] Pure competition

(3 Olgopoly

[4] Pure monopaly

10@. Which of the following Is not
a “market follower™ straledy?
[1) Counterfeiter
[2) Adapter
[3) Initiater
[4) Cloner
— 13 registering, traflick-
Ing In. or using a domain name
with bad faith intent to profit
from the goodwill of a trade-
mark belonging to someone
e,

(1) Ermail marketing
[2) Cyber squatting
(3) Web scraping
{4) Web spidering

111. The follewing is the biggest lim-
itation of advertising :

(1) It forces consurmer Lo buy
the Lhings he docs not need.

(2] It selis gloas and dreamas Lo
proapective burers.

(3) It tells consumers aboul the
arrival of new products in
market

(4] All of the above
112, The client of an advertising
agency is called :
(1) Customer
[2) Major .
[3) Corporate
[4) Accounit
113. Under the barter scheme
{1} Firms can offer products
and services (o advertising
firma il the latier offer
cheap advertising services.
{2) Firms buy products from

iasue
[4) Mone of these

114.1f the objective is ___ then
prices must be sel very com-
peutively Lo appeal to the larg-
€3l poasible number of poten-
tial consurmers.

(1] Market penetration
2] Niche Marketing
(3] Preduct enhancement
[4) None of these
include medical ape-
' cialist and legal advisors.
(1) Speciality services

(2) Safety stock quantity
[3) Reardering policy
[4) Recrdering cyche
i the principle of orga-
nization of a region arcund
several political, social or M-
nancial centres.
1] Ethnocentrism
12) Polycentrism
1) Marketing expansion
{4) Gobal marketing
118, Material culture is divided into
two parts :
(1) Language, Aesthetics
(2) Technology. Economics
(3] Education Religion
[4) Attitudes, Values
118. Identify the group name, whose
mdaxion stalement i -
“To become a major player in

[4) Kotak Mahindra
is the latest 'bw:m'unl

in corporate boardsooms.

(1) Service quality

{2) Service sector

13) Service industry

{4) Al of the above

121. Relatively large, low-cost. low-
margin high-volume, sell-ser-
vice operations efc. ,

120.______
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(1) Super market
(2] Discount store
(3] Department store
[4) Convenlence store
13, Dastribution mix refers Lo
(1) Selection of different distri-
" bution channeis lke Distri-
bution - Wholesaler - Re-
tailers - Consurmer ele.
(2) Selection of sales promo-
uvan techniques, Advertis-
sonal selling ete.
[3) Selection of pre-sales dur-
Ing sales after sales service
elc.
(41 All of the above
123, Products under the brand name
"Enficld” are:
1] Motor Cycles
2] Television
3] Gensets
(4] All of the above .
124. N u S/P [ 1 + T) indicates the:
1) Work load method
(2] Sales potential method
(3] Incremental pethod
(4] Sales budget
128, “Dividend Yickd™ is the ratio be-
tween
(1) Dividend per share, markei
price per share
(2) Total debt. total equity -
(3 Market price per share,
carmnings per share
4] None of these
138, A bank expects fall in price of
a security if it sells it in the
markel. What is the risk that
the bank is Mcing?
(1) Market risk
[2) Operational risk
[3) Asset Liquidation riak
[4) Market Hguidity risk

{3) Hortzontal inlegration
(4) Backowurd inlegration

128. Charles Revson of Revion ob-
served: “In the factory, we
make cosmelica; in the store,

(1) we make profits
[2) we challenge competitors
(3] we implement ads
(4] we sell hope

128, Mohan Sawhney has proposed
the concept of to de-
scribe a cluster of complemen:-
tary products and services that
are closely related in Lhe minds
of consumers but are spread
across a diverse set of indus-
tries.
(1) metamarket .
(2) vertical inlcgration
(3) horizontal integration
(4) Betarmarket

130. A tobacco company sdvertises
it linve of music eds. [Lis a type
oft

(1) Substitute advertising
(2) Surrogate advertising
13) Out-door advertising
(4] None of these

131.You walch a movie and find
out that a particular brand
crops up in 1L very often. It is

all

(1) Pictoral representation of
whal the company stands
for

{2) Graphic or emblem used by
a company o trigger in-
stant recall

[3) The short form of the name
of the company

[4) All kinds of advertisements
used by the company

133, Dilfusion of Innovations is a
theory ‘that secks lo explain
how, why, and at what rate
new ideas and ttﬂhlllﬂ#ﬂ'
spread through cultures, The
adopiera of these innovations
are categorised in five calego-
ries. Which of the following is

Inoormect 7

(1) Early adopters

(2] Early majority

(3] Late adopters

[4) Late majority

134. Dalabase marketing is:

(1) Direet form of marketing .

(2] Indirect form of marketing

(3] Most efficient form of ad-
wertising

4] Kene of these

138, Segmentalion is:

(1] A micthod Lo divide the mar-
ket in Lo different groups
according Lo age only

12) A methed to understand
consumer behaviour

3] A method used to divide the
market in different individ-
ual groups of similar needs
OF wanls

(4] None of these

136. BZB mecans:

(1) Buyer to brand

2] Busincas 1o busincss

(3] Busineas (o buyer

(4] None of these

137.Who started the first Hyper-
markel?

1] Walmart

2] Carrefour

3] Casing

(4] The dolla store

138. The Nirst step of sales process

[EH

(1] Lead generation

(2] Convincing the buyer

(3] Selling the product

(4) Showring a product

138. Core competence of a compa:
ny helps it to:

(1) Mainlain an edge over ils
competilors

(2] Pesdtion its product betler

[3) Price ita product better
[4) All of these
are:

[1) Individuals who do net ac-
cepl an innovation

[2) Indrviduals who are the Last
1o accepl an innovation

[2) Indnaduals secking mnova-
Lions
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L4 1. Consurmer rescarch lakes place
at this stage.
(1] Before purchase
[Z) After purchase
[3) During the purchase
[4) Al of these

lﬂ SWOT analysis does nol con-
tain this,
(1) Strength
[2) Weakness
(3] Opportunity
[4] Talent

143.This is not direct marketing:
(1] Door Lo door selling
(2} Internet marketing
[3) Telemarketing
(4] Mone of these

La4. Trademark is the begal word of:
(1] Brand [2) Product
[3) Patent
(4] Rane of these

145, Which of the following ia nol
an sdvantage of world market-
ng?
(1) Consistency im brand image
(2] Ability Lo leverage good

heas quickly and efMicient-

by
(3] Uniformity of marketing

praciices
(4] None of these
148. The four Ps of Marketing do not
include Lhis

[1) Produsct [Z) Price

[3) Profit [4) Promction
L4T. Porter's Five Force Model in-

chades :

(1) Bargaining power of cus-
tomer

[2) Advertising
[3) Threat of substitute prod-

s,
[4) Bargaining power of suppdi-
(=g ]

148.The Letter T in PEST stands
For:
(1) Treats
[2) Technological
[3) Teacher
(4) Table

140, Brad Loyalty is defined by Kot-
ler in for behaviour pattern.
Which of the following is not
one of them.

[1) Hard Core Loyals
[2) Shifters
[3] Sermd Loyals
(4] Shiling Loyals
150. Marketing does nol involve
which of the following?
(1) Selling
(2] Promating
[3) Advertising
[4] None of these

ANSWERS

308 m

£

a.Lx T

EXPLANATIONS

8. [3] The word' Deganss [Verb)
means : to decrease of climi-
male on unwaniod magneli
Neld,

7-[1)The word Culvert (Noun)
means : & tunnel that carmies
& river or a pipe lor waler un-
der a road.

B. [2) The word Plumcse (Adjec-
thre) meana : like a fealher.
@ [3) The word Marssd (Verk)
means :lo go arcund & place
in search of things o sieal of

1003 | 1L

1403 | 1803

183

EISIEE]

T

28.14]

El

30.04) | 300

fa ]

people Lo altack,
10. [3) The word Haleyon [(Adjee-
tive) means peaceful and

happy.
11. (1} The word Shard (Mous)
means @ a picoe of broken

flass, metal ete.
12. (2] The word Canldron (Noss)

A2.04)

48.07

0.5

elelele

B4

E

BA.14]

Ba.[4]

BIEEE

TOLH

2

5

B4

88.14)

0.3

aa.7)

1021

108.071

10002 | 11L.00)

104

118.[0)

LER(1)

LI7.04

13003

L33

139011

Lad[4]

L4703

:a large deep pot for
boiking liguids or cocking food
over a fire.

14. [2) The word Stagger [Verb]
means :to walk with weak
unsicady steps as if you are
aboul to fall: Lotter,

19. [3 The word Pamt (Verb)
means : to breathe quickly
with short breaths, usually
with your mouth open.

20. [2) The word Agony (Noun)
mesns : extreme physical o
mental pain.

21. (1] Ratio of profit
ax® 12:2xuB:3xxd

3. Eﬁ}ll‘tmuhen'b;rﬂbeﬂ:
days, then tirme taken by Anx
days.

P
2%
#1_1 3 1
o= M o xF
e dn T =20 days
3. [4) I the number of boys s x
then number of girls = 60 -x
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